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Contestant  

Code 
     

問題 解答欄 得点 

A1     0.3 

A2      0.3 

A3        0.2 

A4       1.0 

A5    0.2 

A6   の     に対するプロットの概形 

                                                                                             における傾き: ________                             

                                                        

                                                                                             における傾き : ________ 

1.0 

A7 

    

       

 
1.0 

A8      0.2 

A9    0.3 

A10      0.5 

η 

xg (0,0) 
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     Contestant  

Code 

 

B1     0.6 

B2    0.4 

B3            2.0 

B4 
     

    

2.0 


